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7tWXOR��6tWLRV�$UTXHROyJLFRV�H�&HQWURV�GH�,QWHUSUHWDomR��HP�3RUWXJDO�²�$OHQWHMR�H�$OJDUYH�
�

$� 7HVH� GH�'LVVHUWDomR� DSUHVHQWDGD� SUHWHQGH� LGHQWLILFDU��PHGLDQWH� XPD� DQiOLVH�6:27�� RV�
SRQWRV� IRUWHV� H� DV� IUDJLOLGDGHV� GH� RLWR� VtWLRV� DUTXHROyJLFRV� GR� $OHQWHMR� H� WUrV� GR� $OJDUYH�� 'R�
$OHQWHMR� HQXQFLDPRV�� &RQMXQWR� 0RQXPHQWDO� GH� 0pUWROD�� &RQMXQWR� $UTXHROyJLFR� GR� (VFRXUDO��
&LUFXLWR� $UTXHROyJLFR� GD� &ROD�� 3RYRDGR� 3Up�+LVWyULFR� GH� 6DQWD� 9LWyULD�� 5XtQDV� 5RPDQDV� GH�
0LUyEULJD��9LOOD�5RPDQD�GH�3LV}HV��5XtQDV�GH�6mR�&XFXIDWH�H�9LOOD�5RPDQD�GH�7RUUH�GH�3DOPD��
5HODWLYDPHQWH�DR�$OJDUYH�DSUHVHQWDPRV��0RQXPHQWRV�0HJDOtWLFRV�GH�$OFDODU��9LOOD�5RPDQD�GH�
&HUUR�GD�9LOD�H�5XtQDV�GH�0LOUHX��

&RP�D�FUHVFHQWH�JOREDOL]DomR�RV�UHFXUVRV�GH�QRYDV�WHFQRORJLDV�HVWmR�D�VHU�FDGD�YH]�PDLV�
XWLOL]DGRV�� FRQVHTXHQWHPHQWH�� UHDOL]iPRV� XP� DQiOLVH� GHWDOKDGD� HP� YiULDV� OtQJXDV� �LQJOrV��
IUDQFrV� H� LWDOLDQR�� DRV� YiULRV� VtWLRV� DUTXHROyJLFRV� DQDOLVDGRV� FRP� R� LQWXLWR� GH� YHULILFDU� D� VXD�
SURMHFomR��

$QDOLViPRV�� QR� kPELWR� GR� 3DWULPyQLR� UXUDO�� RV� 0RQXPHQWRV� 0HJDOtWLFRV� GH� eYRUD�� RQGH�
GHWHFWiPRV�XPD� LQH[LVWrQFLD� GH� LQYHVWLPHQWR� D� HVWH� OHJDGR� H�� VLPXOWDQHDPHQWH� HVWXGiPRV�R�
3DWULPyQLR� XUEDQR� GD� FLGDGH� GH� eYRUD�� QR� TXDO� YHULILFiPRV�� TXH� SHUDQWH� R� 3DWULPyQLR�
DUTXHROyJLFR�R�LQYHVWLPHQWR�p�TXDVH�QXOR��

)LQDOPHQWH��GHOLQHiPRV�DVSHFWRV�TXH�D�SULQFLSDO�HQWLGDGH�SURPRWRUD�²�,33$5�²�WHUi�GH�WHU�
HP�FRQWD� IDFH�DR� LQYHVWLPHQWR� UHDOL]DGR� �TXH� IRL� LPSRVVtYHO� DSUHVHQWDU���e�QHFHVViULR� TXH�DV�
LQIUD�HVWUXWXUDV�GH�DSRLR�DR�WXULVWD��WDLV�FRPR�RV�&HQWURV�GH�$FROKLPHQWR�H�,QWHUSUHWDomR�VHMDP�
DSURYHLWDGRV� SDUD� D� UHFHSomR� GH� YLVLWDQWHV�� PDV� WDPEpP�� SDUD� D� SUiWLFD� H� UHFXUVR� D� QRYDV�
WHFQRORJLDV�� FRPR� SRU� H[HPSOR�� DV� YLVLWDV� GLGiFWLFDV� H� YLUWXDLV� FRPSOHPHQWDGDV� FRP� D�
LQIRUPDomR�GLVSRQtYHO�QD�,QWHUQHW���

&RQVLGHUiPRV� TXH� RV� VtWLRV� DUTXHROyJLFRV�� VHQGR� 3DWULPyQLR� UXUDO� QHFHVVLWD� GH� XPD�
SURPRomR� FRQMXQWD� FRP� RXWURV� WLSRV� GH� 3DWULPyQLR� H� GH� UHFXUVRV� WXUtVWLFRV�� GH� IRUPD� D�
GLQDPL]DU�H�D�UHQWDELOL]DU�PDLV�HILFD]PHQWH�DV�HVWUXWXUDV�GR�,33$5��
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7LWOH��$UFKDHRORJLFDO�6LWHV�DQG�LWV�0XVHXPV�LQ�3RUWXJDO�²�$OHQWHMR�DQG�$OJDUYH�
�

7KLV�'LVVHUWDWLRQ�LQFOXGHV�D�6:27�¶DQDO\VLV�WKDW�KDV�WKH�GHVFULSWLRQ�RI�HLJKW�DUFKDHRORJLFDO�
VLWHV�RI�$OHQWHMR�DQG�WKUHH�LQ�$OJDUYH��$W�$OHQWHMR�ZH�KDG��0pUWROD��(VFRXUDO��&ROD��6DQWD�9LWyULD��
0LUyEULJD��3LV}HV��&XFXIDWH�DQG�7RUUH�GH�3DOPD��$W�$OJDUYH�ZH�KDG�VWXGLHG��$OFDODU��&HUUR�GD�9LOD�
DQG�0LOUHX��:H� WRR� LQYHVWLJDWHG� WKH�0HJDOLWKLF�0RQXPHQWV� RI� eYRUD� QRW� WR� FRPSDUH� ZLWK� WKH�
RWKHUV��EXW� MXVW� WR�YLVXDOL]H� WKH�H[WUHPHO\�GLIIHUHQW�EHWZHHQ� WKH� UXUDO�DQG� WKH�XUEDQ�3DWULPRQ\�
LQYHVWPHQW�DQG�WRXULVW�LQIRUPDWLRQ��

7KH�6:27·�DQDO\VLV�KDV�D�SDUWLFXODU�VWXG\�LQWR�WKH�VWUHQJWK�DQG�DOVR�WR�WKH�ZHDNQHVV��'XH�WR�
HPSKDVL]H�WKH�,33$5�LQYHVWPHQW�DQG�DOVR�WR�H[SODLQ�LI�WKLV�LQYHVWPHQW�KDV�EHHQ�HIILFLHQW�WR�WKH�
&XOWXUDO� 7RXULVP� LQ� 3RUWXJDO� ZH� LQYHVWLJDWHG� DOO� WKH� FRPSOHPHQWDU\� VWUXFWXUHV� RI� WKH� WRXULVW�
UHFHSWLRQ�� $QG�ZH� YHULILHG� WKDW�PDQ\� DVSHFWV� KDYH� EHHQ� VXE�GHYHORSHG�� EHFDXVH� WKHUH� LV� QRW�
PXFK�UHFRXUVH�DW�WKH�QHZ�WHFKQRORJ\��VXFK�DV�,QWHUQHW��

)LQDOO\��ZH�YHULILHG�WKDW�WKHVH�DUFKDHRORJLFDO�VLWHV��WKDW�EHORQJ�WR�WKH�UXUDO�3DWULPRQ\��QHHGV�
XUJHQWO\� RI� D� JOREDO� SURPRWLRQ�ZLWK� RWKHU� W\SH� RI� 3DWULPRQ\�� IRU� H[DPSOH�� WKH�XUEDQ�� VXFK� DV�
eYRUD��6R�LQ�WKLV�'LVVHUWDWLRQ�ZH�DOVR�FRQVLGHUHG�WKLV�W\SH�RI�3DWULPRQ\�WR�FRQVWUXFW�D�WUXWK�DQG�
HIILFLHQW�VFHQHU\�EHWZHHQ�WKHVH�WZR�W\SHV�RI�WRXULVW�UHFRXUVH��$QG�WKHUHIRUH�ZH�GHHSO\�H[SORUH�WKH�
LQYHVWPHQW��VWUXFWXUHV�DQG�WKH�UHFRXUVHV�RUJDQL]HG�E\�,33$5��
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